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quarter half three-quarter whole
turn turn turn turn

Children may match the quarter turn and the three-quarter turn the
other way around, as a quarter turn one way can also be a three-quarter
turn the other way.

Either of these answers are correct:

The tile made a quarter turn.
The tile made a three-quarter turn.

The rocket tile could make a half turn in either direction. ®

No, the boat tile would need to make half a turn in either direction
to face the boy.

@ Three-quarter turn in
< either direction.
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Answers

quai‘ter quarter
turn turn

three-quarter three-quarter whole whole
turn turn turn turn
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quarter turn + quarter turn + half turn
three-quarter turn three-quarter turn + half turn
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half turn three-quarter turn three-quarter turn
+ half turn + quarter turn + quarter turn
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